WE SHIP TODAY

Instruction Disclaimer

Dennis Kirk provides instructions to help our customers better understand how to install the
products we sell. The instructions are exact copies of what the manufacturer includes with the
product being sold.

That means the quality and accuracy of the instructions is solely dependent on what the
manufacturer produces. We do our best to make the text legible and the pictures viewable.
However, the end result depends largely on the quality of instructions the manufacturer
provides.

Therefore, you will find that some instructions are not of the highest quality. Sometimes text is
hard to read and pictures are not easy to see. At times you will find the overall look of the
instructions to be less than professional. However, we feel it is better to provide what we have
rather than provide nothing at all.

To the best of our knowledge the instructions and application information contained in the
instructions is accurate. However, Dennis Kirk assumes no liability related to any errors that
may be contained in the copy of the manufacturer’s instructions we provide. Buyers are solely
responsible to insure that product use is consistent with their application.

If you have any questions please contact us at customerservice@denniskirk.com or

800-969-7501 so we can further assist you regarding additional product information or any other

business related questions.

Thank you for doing business with Dennis Kirk.



American Mfg. | . file:///C:/Documents%20and%208Settings/All%20Users/Documents/Of...

MOOSE

ITILITY DIVISION

RACK INSTALLATION INSTRUCTIONS FOR MUD4880

Hardware:

(4) U-Clamps

(4) 5/16" x 2-1/2" Hex Bolts

(4) 5/16" Nylock Nuts

(4) 5/16" SAE Flat Washers

(4) 5/16" USS Flat Washers

(4) 3/4" x 3/4" Plastic Spacers

(4) 3/4" x 3/4" Square Plastic Tube End Plugs

STEP 1: Insert the square plastic end plugs in the open end of the tubes and lightly tap in.

STEP 2: Position front rack on factory rack. Square end faces the driver. Center rack from side to
side on the factory rack.

STEP 3: Position u-clamps around factory rack tubing and align with the diamonds hole in mesh
rack. Use the plastic spacer between the u-clamp and the mesh. Piace the larger of the washers on the
bolt and then place the bolt down through the basket, spacer and u-clamp using the small washer on the
bottom with the nylock nut. Do this in four locations and tighten.

" Mesh Rack
Diin 5/16" x 2-1/2" Hex Boh
H
= )
c ;.ﬁ:} USS Flat Washer

[ 1 374" x 3/4" Plastic Spacer

U Clamp

Factory Rack

SAE FlatWasher
516" Mylock But



